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(A)a,c

B)b,e, d

©)c,d, f

(D)b,d

2. E4t{E A internal consistency J7EHTHIERE 2 (3%)
(A) Thurstone Personality Schedule

(B) Personal Data Sheet

(C) Minnesota Multiphasic Personality Inventory

(D) Bernreuter Personality Inventory
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4. What is the relationship between the reliability and the validity of a psychological test? (3%)
(A) none; these concepts are separate and independent

(B) reliability is necessary but not sufficient for validity

(C) reliability is necessary and sufficient for validity

(D) validity is a necessary precursor to reliability

5. Which approach to test development is most compatible with computerized testing? (3%)
(A) classical test theory

(B) generalization theory

(C) latent trait theory

(D) stability
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6. Which of the following is not an objective of science? (2%)
(A) explanation of how a phenomenon works
(B) prediction of what will happen in the future under certain conditions
(C) controlling conditions that determine a phenomenon
(D) proving a theory is true

7. As part of her thesis, Tammy applied and was permitted to use the government-funded Kids in Taiwan data
to explore the average hours per week children in Taiwan play online games. This is an example of using (2%)
(A) existing data
(B) correlational data
(C) qualitative data
(D) interview data

8. Why is the statement “What Type of Child Temperament is Best for Parents?” not a good research question?
(2%)

(A) research on children is not ethical

(B) child temperament is a private issue that is too personal to study publicly

(C) it is not sufficiently specific

(D) it does not specify the methods to be used to answer the question

9. Which of the following is the most difficult part of conducting research over the internet? (2%)
(A) privacy
(B) debriefing
(C) confidentiality
(D) incentive

10. of participants is done to obtain a representative sample, and of the
participants is done to improve the experimental design of the study. (2%)

(A) Random selection; random sampling

(B) Random assignment; random selection

(C) Random assignment; matching

(D) Random selection; random assignment

11. If an experiment is ecologically valid, then the effect of the treatment used in that experiment should be
(2%)

(A) stronger in the real world than in the laboratory.

(B) evident in other settings.

(C) stronger in the laboratory but still detectable in the real world.

(D) more easily measured in conditions in which control is possible.
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a. FRAMERHESRE  URENESHEERTRELNYE - (5%)

b. IRIBIERHEEGER » STERE A S REREE - (5%)

c. TE 95% HUfELVKET » S EZIEEATRROMESAEE  UEZBEAELERR DN
HESTRRE g AR ERIEE - (5%)
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A B C
14 16 19
15 - 17 20
£ 14 16 19
e 13 18 21
B 15 17 20
= 14 16 19
vax 13 17 20
# 15 18 21
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15 16 19
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1. RESESUHERESR (CTT) EUEEREMH (RT) MEEEBEE (difficulty level of an item )AY
BETERRM? (5%)

2. 5 reliability coefficient HIRE-&MEE Y standard error of measurement (SEM) y=Y A
SDV1-r (5%)
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4. Please read the abstract (Bigelow et al., 2021) and answer the questions followed.

“This study investigated how acute exercise and mindfulness meditation impacts executive functioning
and psycho-emotional well-being in 16 children and youth with ADHD aged 10-14 (male = 11; White =
80%,). Participants completed three interventions: 10 min of exercise, 10 min of mindfulness meditation,
and 10 min of reading (control). Before and after each intervention, executive functioning (inhibitory
control, working memory, task-switching) and psycho-emotional well-being (mood, self-efficacy) were
assessed. Mindfulness meditation increased performance on all executive functioning tasks whereas the
other interventions did not (d = 0.55-0.86). Exercise enhanced positive mood and self-efficacy whereas
the other interventions did not (d = 0.22—0.35). This work provides preliminary evidence for how acute
exercise and mindfulness meditation can support differential aspects of executive and psycho-emotional
functioning among children and youth with ADHD.”

(This abstract was obtained from the article, Bigelow, H., Gottlieb, M. D., Ogrodnik, M., Graham, J. D.,
& Fenesi, B. (2021). The differential impact of acute exercise and mindfulness meditation on executive
functioning and psycho-emotional well-being in children and youth with ADHD [Original Research].
Frontiers in Psychology, 12. https://doi.org/10.3389/fpsyg.2021.660845)

a. What is the research design of this study? Please specify the design, the participants, the independent
variable(s), and the dependent variable(s). (7%)

b. What are the main findings? Do you agree with the authors? Why or why not? (6%)
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z table

*Column A lists z-score values. A vertical line drawn through a normal distribution at a z-score location divides the dis-
tribution into two sections.

Column B identifies the proportion in the larger section, called the body.

Column C identifies the proportion in the smaller section, called the tail.

Column D identifies the proportion between the mean and the z-score.

Note: Because the normal distribution is symmetrical, the proportions for negative z-scores are the same as those for
positive z-scores.

Body Body
B B
D
Tail Tail
C [}
0 .z =z 0 0 z
(A) (8) © ) (A (8) © [()]
Proportion Proportion Proportion Proportion Proportion Proportion
z in Body in Tail Between Mean and z z in Body in Tail Between Mean and z

1.50 9332 .0668 4332 2.00 9772 0228 AT72
1.51 9345 0655 4345 2.01 9778 0222 4778
1.52 9357 0643 4357 2.02 9783 0217 4783
1.53 9370 0630 4370 2.03 .9788 0212 4788
1.54 9382 0618 4382 2.04 9793 0207 4793
1.55 9394 0606 4394 205 9798 0202 4798
1.56 9406 .0594 4406 2.06 .9803 0197 4803
1.57 9418 0582 4418 2.07 .9808 0192 4808
1.58 9429 0571 4420 208 9812 .0188 4812
1.59 9441 0559 4441 209 9817 0183 4817
1.60 9452 0548 4452 2.10 .0821 0179 4821
1.61 9463 0537 4463 2.11 9826 0174 4826
1.62 9474 0526 4474 212 9830 0170 4830
1.63 9484 0516 4484 2.13 9834 0166 4834
1.64 9495 0505 4495 2.14 9838 0162 4838
1.65 9505 0495 4505 2.15 9842 0158 4842
1.66 9515 0485 4515 2.16 9846 0154 4846
1.67 9525 0475 4525 2.17 .9850 0150 4850
1.68 9535 .0465 4535 2.18 9854 0146 A854
1.69 9545 .0455 4545 2.19 9857 0143 4857
1.70 9554 0446 AS554 220 .9861 0139 4861
1.71 9564 0436 4564 221 9864 0136 4864
1.72 9573 0427 4573 222 9868 0132 4868
1.73 9582 0418 4582 223 9871 0129 4871
1.74 9591 0409 4591 2.24 9875 0125 4875
1.75 9599 .0401 4599 2.25 9878 0122 4878
1.76 .9608 0392 .4608 2.26 9881 0119 4881
1.77 9616 0384 4616 2.27 9884 0116 4884
1.78 9625 0375 4625 2.28 9887 0113 4887
1.79 9633 0367 4633 2.29 9890 0110 4890
1.80 9641 0359 4641 230 9893 20107 4893
1.81 9649 L0351 4649 2.31 9896 0104 4896
1.82 9656 0344 4656 232 9898 0102 .4898
1.83 9664 0336 4664 2.33 9901 .0099 4901
1.84 9671 0329 4671 2.34 9904 0096 4904
1.85 9678 0322 4678 235 9906 0094 4906
1.86 9686 0314 4686 236 9909 0091 .4909
1.87 9693 0307 4693 2.37 9911 .0089 4911
1.88 9699 0301 4699 2.38 9913 0087 4913
1.89 9706 0294 4706 2.39 9916 0084 4916
1.90 9713 0287 4713 2.40 9918 .0082 4918
1.91 9719 0281 4719 241 9920 0080 4920
1.92 9726 0274 4726 242 9922 0078 4922
1.93 9732 0268 4732 243 9925 0075 4925
1.94 9738 0262 4738 244 9927 0073 4927
1.95 9744 0256 A744 245 9929 .0071 4929
1.96 9750 0250 4750 2.46 9931 0069 4931
1.97 9756 0244 4756 247 9932 0068 4932
1.98 9761 .0239 4761 248 9934 0066 4934
1.99 9767 0233 4767 249 9936 .0064 4936
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df1
df?2 1 2 3 4 5 6
1 161.448 199.5 215.707  224.583 230.162 233.986
2 18.513 19 19.164 19.247 19.296 19.33
3 10.128 9.552 9.277 9.117 9.013 8.941
4 7.709 6.944 6.591 6.388 6.256 6.163
5 6.608 5.786 5.409 5.192 5.05 4.95
6 5.987 5.143 4.757 4.534 4.387 4.284
7 5.591 4.737 4.347 4.12 3.972 3.866
8 5.318 4.459 4.066 3.838 3.687 3.581
9 5117 4.256 3.863 3.633 3.482 3.374
10 4.965 4.103 3.708 3.478 3.326 3.217
1 4.844 3.982 3.587 3.357 3.204 3.095
12 4,747 3.885 3.49 3.259 3.106 2.996
13 4,667 3.806 3.411 3.179 3.025 2.915
14 4.6 3.739 3.344 3.112 2.958 2.848
15 4.543 3.682 3.287 3.056 2.901 2.79
16 4.494 3.634 3.23¢9 3.007 2.852 2.741
17 4.451 3.592 3.197 2.965 2.81 2.699
18 4.414 3.555 3.16 2.928 2.773 2.661
19 4.381 3.522 3.127 2.895 2.74 2.628
20 4.351 3.493 3.098 2.866 271 2.599
21 4.325 3.467 3.072 2.84 2.685 2.573
22 4.301 3.443 3.049 2.817 2.661 2.549
23 4.279 3.422 3.028 2.796 2.64 2.528
24 4.26 3.403 3.009 2,776 2.621 2.508
25 4,242 3.385 2.991 2.759 2.603 2.49
26 4.225 3.369 2.975 2.743 2.587 2.474
27 4.21 3.354 2,96 2.728 2.572 2.459
28 4,196 3.34 2.947 2714 2.558 2.445
29 4.183 3.328 2.934 2.701 2.545 2.432
30 4171 3.316 2.922 2.69 2.534 2.421
31 4.16 3.305 2911 2.679 2.523 2.409
32 4.149 3.295 2.901 2.668 2.512 2.399
33 4.139 3.285 2.892 2,659 2.503 2.389
34 4.13 3.276 2.883 2.65 2.494 2.38
35 4,121 3.267 2.874 2.641 2.485 2.372
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